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Xq X3 A3 X4 X Xg
0.80 0.56 .95 0.82 0.71 1.00 Ay
R 1.00 1.00 0.86 0.69 0.43 0.56 A,
0.72 0.74 1.00 1.00 1.00 0.78 As
0.88 0.67 .95 0.90 0.71 0.36 Ay
M\ﬁjﬁJ%Qoﬁﬁgwoﬁu\dam S (9 aS 0 o2 Tl
W = {D.E ,0.1,0.1,0.1,0.2 ,D.E}
6
"'4'1 = - '[.-'1.-3.-]-"1-1. =
j=1
[D.E * D.BD] + [D.EE * l:l.lj + (DHE & D.lj + [D.BE & [l.lj * [D.?l ] D.Ej + (1.["] & D.Ej
= 0.835
A, = 0.709
A; = 0.852
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1 2 3 +{%’4’5] [}_545 G_E 0.6 EJTJE_ 1'1-‘:;_ - G.EE
= |w, = 0.241

1/2 1 1| =——— [0.273 0.25 0.2
1/3 1 1 0.183 0.25 0.2 Wy = 0.211
S(=) o=y =+ 0.55 0.241 0.211
1[200 10 15 0.5 1 0.375
el e
21300 15 20 = |0.33 0.67 0.5
3100 20 40 1 0.5 1
4l4a00 25 35 0.25 0.4 0.875

A, = (0.55=0.5) + (1 =0.241) + (0.211 = 0.375) = 0.595
A, = (0.33 =0.55) + (0.67 = 0.241) + (0.5 = 0.211) = 0.448
A; = (0.55 = 1) + (0.241 = 0.5) + (1 = 0.211) = 0.8815

A, =(0.25 = 0.55) + (0.4 = 0.241) + (0.875 = 0.211) = 0.418

Ay -4, - A4, - A,
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200
300
100
400
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15
20
25
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35

0.201 0.065
{0301 0.099
| 0.1 0.13

0.401 0.164

\

0.55 0.241
0.365 0.27
0.548 0.41
0.182 0.54
0.73 0.68
+
0.053
0.072
0.143
0.126

Sl
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0.25
034 | YTk
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hie 9 cufla g Jlod) 51, AL R R o Alald dulas 3

At =1{0.1,0.065,0.143} A” =1{0.401,0.164,0.053}

57 =,/(0.201 — 0.1)2 + (0.065 — 0.065)2 + (0.053 — 0.143)% = 0.135

S; =+/(0.201 — 0.401)2 + (0.065 — 0.164) 2 + (0.053 — 0.053)2 = 0.223

S5 =./(0.301 — 0.1)2 + (0.099 — 0.065)2 + (0.072 — 0.143)2 = 0.216

Sy =+/(0.301 — 0.401)2 + (0.099 — 0.164) 2 + (0.072 — 0.053)2 = 0.121

Sy =+(0.1—0.1)2+ (0.13 —0.065)2 + (0.143 — 0.143)2 = 0.065

S; =+/(0.1 —0.401)2 + (0.13 — 0.164)? + (0.143 — 0.053)2 = 0.316

Sy =+/(0.401 — 0.1)2 + (0.164 — 0.065)2 + (0.126 — 0.143)2 = 0.317

Sy =+/(0.401 — 0.401)2 + (0.164 — 0.164)2 + (0.126 — 0.053)2 = 0.073
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Ciuadld 4 dagiha oiUall gab 4y s ab® R ) Ci gadld s dmlaa 4

ST 0.223
Ci=——= = 0.623
ST +S57 7 0.223 +0.135
Sy 0.121
C=—= = 0.359
S;+5F 0.12140.216
[y 0.316
C=— = = 0.829
S; +5F  0.316 + 0.065
Sy 0.073
= = 0.187

C., =
* S+ S8 0173 +0.317

Ay =4, - A, = 4,
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o8 iy auw,p Uluoliie Jgaz

lpaliia GRE GPA college rating mr:::;f““ i“:gg;;“’
Alfred 690 3.1 9 7 4
Beverly 590 39 7 6 10
Calvin 600 3.6 3 5 7
Diance 620 3.8 7 10 6
Edward 700 2.8 10 4 6
Fran 650 4.0 6 9 8
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GRE: The Graduate Record Examination (GRE)is a commercially run standardized
that is an admission requirement for many graduate schools in the United States.

GPA: Grade Point Average is a calculation of the average of all of a student'’s
grades in United States.
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_ X X2 X3 X oy
0.4381 0.3555 0.4623 0.3763 0.2306
0.3746 04472 0.3596 0.3226 0.5764
0.3809 04128 04109 04301 04035
0.3936 0.4357 0.3596 0.5376 0.3458
0.4444 03211 0.5137 0.2150 0.3458
0.4127 0.4587 0.3082 04838 04611

Mmoo Ow>

p._._rln_rk_;-._n Gl..._.-.u'::r_n_;.,r_j o yQu A |_;. X11 L_"_'."_.alj'_;.__r

0.4381= 690/ V(6907 +590% + . . . +650%)

0.1314 0.0711 0.0925 0.0564 0.0346" |
0.1124 0.0894 0.0719 0.0484 0.0865"
0.1143 0.0826 0.0822 0.0645 0.0605
0.1181 0.0871 0.0719 0.0806" 0.0519
0.1333° 0.0642- 0.1027° 0.0323" 0.0519
0.1238 0.0917° 0.0616~ 0.0726 0.0692
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|
SAT = ﬁqllgﬁzl[:ﬂij —v*)2=[(0.1314— 0.1333)% + --- + (0.0346 — 0.0865)%]Y2 = 0.0617

(SAT,SB*,5CT,sD™,SFT,SET) = (0.0617,0.0493,0.0424,0.0490,0.0655,0.0463)

|
SAT = 1}'2?:1@@' —vj~)?=[(0.1314 — 0.1124)? + -+ (0.0346 — 0.0346)%]*/? = 0.0441

(SA™,SB~,5C",5D",5F,5E™) = (0.0441,0.0608,0.0498, 0.0575,0.0493,0.0609)
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SAY

0.0441

E —
47 sAt 154

0.0617 + 0.0441

= 0.4167

& a3 rank Value rank Value rank Value
A 5 0.0617 6 0.0441 § 0.4167
B 4 0.0493 2 0.0608 2 0.5519
C 1 0.0424 4 0.0498 4 0.5396
D 3 0.0490 3 0.0575 3 0.5399
E 6 0.0655 5 0.0493 5 0.4291
F 2 0.0463 1 0.0609 1 0.5681

F==B—=D—=(C—=E—=A4
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0.2 0.3 0.4 0.1 Weight
cost Fuel.Eco reliability style
8 9 9 7 civic
7 8 7 8 Saturn
9 8 6 9 ford
6 8 7 6 Mazda
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reliability

0.46

Fuel.Eco

0.48

0.48

Saturn

0.40 0.48 0.48 0.40 Mazda
(-)Cost (+)Fuel.Eco (+)Reliability (+)Style

0.106 0.162 0.244 0.046 civic

0.092 0.144 0.192 0.053 Saturn

0.118 0.144 0.164 0.059 ford

0.080 0.144 0.192 0.040 Mazda
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AT ={0.059,0.244,0.162,0.080}

A” ={0.040,0.164,0.144,0.118}

5 =0029,57 =0.057,5; = 0.090,5; = 0.058

57 =0.083,5; =0.040,5; = 0.019,5; = 0.047
S

C;=074,C,=041,C3=0.17,C, = 0.45

Civic - Mazda — Saturn — Ford
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Olgn
4

sl 30Vl y asanal (g ile daula (1) pAD

0.55 0.24 0.21

200 10 15 ru=,% 0365 0.27 0.25
D=|300 15 20 e o, _|0548 041 034
100 20 40 0.182 0.54 068
400 25 35 0.73 0.68 0.596

"ol ug‘)je.m..aﬁum”jju 4\..};.»1;.0:9) pm
- - +

0.201 0.065 0.053

V=W oK y=|0301 0099 0072
S 01 013 0.143

0.401 0.164 0.126
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Sy, =1{1,2}
513 = {2}
Sy4=1{1,2}
Sy = {3}
Sa3 = {2}
S,y ={1,2}
S4 = {1,3}
Sq = {1,3}

.534 - {1,2,3}

5S4 =13}
5S4 =13}

Sa43=1}

Sialea U 5 Kialea 4c sana Ry el D) P D

Dy; = {3}
Dy = {1,3}
Dyy= {3}
D,y = {1,2}
D,y = {1,3}
Dyy = {3}
D3 = {2}
D33 = {2}
Dys =1
Dy = {12}
Dy, = {1,2}

D4y = {1,2,3}
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alad G il 4ndlaa)lgn p20
L, =W, + W, = 0.55 +0.24 = 0.79

Ij; =W, =0.24

I, =W, + W, = 0.55 + 0.24 = 0.79

Ly =W; =021

Ly =W, =024

Ly, =W, + W, = 055+ 0.24 = 0.79

I;; =W, + Wy = 055+ 0.21 = 0.76

I;; =W, + Wy = 055+ 0.21 = 0.76

ILy,=W, +W, + W, =055+ 0244+021= 1
Iy, =Wy =021

14‘2 - WE =021

14:;:(]
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MAX{]0.053 — 0.072]} _ 0019
MAX{|0.201— 0.301],|0.065 — 0.099],|0.053 — 0.072(} 01

MAX{|0.201 — 0.1],|0.053 — 0.143|} 0101 1
MAX{]0.201— 0.1],]0.065 — 0.13[,]0.053 — 0.143[} 0101

MAX{]0.053 — 0.126]} _ 0073
MAX{]0.201 — 0.401],[0.065 — 0.164|,[0.053 — 0.126]} 0.2

= 0.365

MAX{|0.201 — 0.301],|0.065 — 0.099]} 01

=—_=1
MAX{0.201 — 0.301],]0.065 — 0.099/,]|0.053 — 0.072|} 0.1
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